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10 QUESTIONS

SITTING ARRANGEMENT
BASED ON LATEST PATTERN

pirections (1 - S): Study the following
information carefully and answer the given

questions. S.

ABC DE,F,Gand Hare sitting around
a circular table facing the centre. Each one
of them has a different profession viz.

shopkeeper, businessman and banker,

(4) Doctor (S) € and teacher

Who amongst the following is alprk?
(1) C (2 D 3 @

(4) F {5} G %
§%’i’cnllm:mfil:lg

questions.

: ¢ Directions (6 - 10): Stud
doctor, engineer, architect, teacher, clerk, information careml.l'y and %étr the given

A sits third to right of teacher. D sits
second to left of G. G is not an immediate
neighbour of the teacher. Only one person
sits between B who is the shopkeeper and
teacher. The one who is an architect sits
third to the right of the shopkeeper. H sits
between architect and engineer. E is not
an immediate neighbour of H. Engineer
sits third to the right of clerk. Only one
person sits between businessman and F.
E is neither a businessman nor a doctor.

1. Which of the following is true with respect

of the given seating arrangment?y P

(1) E is an immediate neighbour ok
engineer,

(2) E is an architect

(3) The clerk is an immediat®aei
of the banker.

(4) The teacher sits betwel
engineer

(5) Shopkeeper sits segt
the teacher. .

{2) Architect
(4) Teacher

(1) Business
(3) Banke

{2) Bwird to the left 8.
{3) Second to the right

(4) Fourth to the left

(5) Second to the left.

4.  Who sit(s) exactly between the architect
and the businessman? '

(1) CandH  (2) Clerk
{3) Banker and shopkeeper

75

- Twelve people gre s%g in two parallel
rows containiniy, six gleople each, in such

a way that the an equal distance
jakent persons. In row-1; P, Q,
te scated and all of them
@ Inrow-2; A,B,C,D, E
d and all of them are facing

P 1i’bts third to the left of T. Neither P nor T

-
. Sits at an extreme end of the line. A sits

second to the right of E. Neither A nor E
faces T or P. A does not sit at an extreme
end. R does not face A and R does not sit
at an extreme end of the line. Only one
person sits between F and C. Neither F
nor C faces T. C does not sit at the extreme
end. Only one person sits between V and
Q. F is not an immediate neighbour of B
and A does not face V.

How many persons are seated between B
and D?

(1) One (2} Two
(4) Four (S) None

V is related to B in the same way as Q is
related to C. To which of the following is P
related following the same pattern?

(L) F @a (3D

4 E (5) None of these

Which of the following is true regarding V?
(1) V faces A

(2) T is not an immediate neighbour of V
(3) Cfacestheone who is second to left of V

(4) V sits at one of the extreme ends of
the line
(5) R sits third to the right of V

(3) Three
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9. Who amongst the following sit at extreme 15.
ends of the rows?

(1) D, F 2V,S 31Q,S
48B,D (S) None of these

10. Who amongst the following faces B?
Y RY 2)Ss 3)Q

() R (5)T 6
Directions (11 - 16): Study the following
information carefully and answer the given
questions.

J,P,Q R, S, T, Uand V are 4 married Directions (17 - 21}
couple sitting in a circle facing the centre. information carefu
The profession of the males within the gquestions.

group are lecturer, lawyer, doctor and
scientist. Among the males, only R (the
lawyer) and V (the scientist) are sitting
together. Each man is seated besides his
wife. U, the wife of the Lecturer is seated
second to the right of V. T is seated
between U and V. P is the wife of the
Doctor. Q is a male but he is not doctor. S

) is a Male.

11. Which of the following is P’s position with
respect to S? :

(1) Second to the right @ .
(2) Second to the left (

(3} Immediate right

(4) Immediate left
{S) Third to the left

12. Which of the following is J’&poRti
respect to T? :

(1) Third to the left

19.
13. ¢’ following is not true 20.
e couples?
wife of S
e wife of Q
s the husband of J
(4} J and S are seated adjacent to each
other 21

{S) All are trye

14. The Wi.ves of which two husband are
Immedijate neighbours?

(yur 2)SR  (3)vo
(4) RV (5) None of these
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Four of the following are alike in ace

way based on their seating position, in ;l:ln
above arrangment and so form 4 groy ¢
Which is the one that does not b"-‘long P.
the group? to
(1) RSJ (2) TRV  (3)uty
(4) SQP (5) UPQ @y
Who is the Lawyer's wife? ;g
(1) T (2) P )
4V (S) Nonx 6Rthése
he f0u°winz
afd answer the given

Seven poeple A% » D, E, F and G g,
sitting in a gircle. Five of them are facing
the centrefwhile two of them are facing
opposit k¢ dgentre. C sits third to the
leftzof Dhand bath are facing the centre, E
is neithéF’an immediate neighbour of p

A;;—}\?"r:;qu‘éf The one sitting exactly betweey

Baﬁ‘ﬁ’F is facing opposite to the centre, §

é;sitggfhird to the right of A and G is facing

¢ centre. One of B's neighbour is facing

;"% opposite to the centre,

Which of the following pairs represents
persons, facing opposite to the centre?

(1) Aand F (2 Eand F (3) AandE
(4) Cannot be determined

(5) None of these

Who is sitting second to the left of A?

(1)C 2) G 3 E

.(4) B (5) None of these

Who is sitting to the immediate left of E?
(1)c )G (3} B

MA (5) None of these

What is the position of F with respect to B?
(1) Fourth to the left

(2} Second to the right

(3} Third to the right

(4) Second to the left

(5) None of these

lf-‘ all the persons are asked to sit in 8
ciockwise direction in an alphabetical ordef
starting from A, the position of how many
will remain unchanged, excluding A?

(1) Three (2) One (3) Two

(4) None (5) Four

F 3



Directions (22 - 26): Stug
information carefully and g
questions.

22.

23.

24.

25.

26,

. way that four of th
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¥ the followin
nswer the give

E_ig!lt frendsP, Q, R, 8, T, V,Wand Y are
siting around a square table jn such a

the square while
each of the four sides. The ones who sit at
the four corners face the centre while

those who sit in the middle of the sides
face outside.

f: who faces the centre sits third to the
ngl-{t of V. T who faces the centre, is not
an immediate neighbour of V., Only one
person sits between V and W. S sits second
to right of Q. Q faces the centre. R is not
an immediate neighbour of P,

Who sits second to the left of Q7
(v (2) P 3T
4 Y (S) Cannot be determined
What is the position of T with respect to V?
(1) Fourth to the left
(2) Second to the left
(3) Third to the left

(4) Third to the right
(S) Second to the right

Four to the following five pairs‘%alﬂike in
a certain way based on thei ons in
the above arrangement form a
group. Which of the folk does not

of the questj®

(YR
4S8 [FT%
Which of the R ing will come in place
prk based upon the given
ent?

(2) VY
_ (5) QV
Whih of the following is true regarding R?
(1) R is an immediate neighbour of V

B VQ

(2) R faces the centre

{3) R sits exactly between T and S
{4) Q sits third to left of R

(S) None is true

em sit at four corners of
four sit in the middle of

E Directions (27 - 31
n information carefully
quesations.

A

): Study the following
and anawer the given

Twelve people are sitting in two parallel
TOWS containing six people each, in such
8 way that there is an equal distance
between adjecent persons. In ro
R, 8, T and V are seated and

and F are seated and all of ¥ e facing
North. Therefore, in thmgfén seating
arrangment each memiigyr stated in a row

faces another mcm?o ¢ other row.

A sits third to fight M Neither A nor D
sits at extrem@endg! T faces D. V does
not face A and s not sit at any of the
extreme epfls. V is not an immediate
neighbour *'lr (B, sits at one of the extreme

ends. tWo people sit between B and
E. %€ s, 'not face V. Two persons sit
bet_w% and Q. R is not an immediate

' ur of T. C does not face V. P is not

ane\:signmediatc neighbour of R.

22.%@&10 amongst the following sit at extreme

28.

29.

3Q.

31.
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¢ @ehds of th rows?

(1)B,E 28T @3)P,R

(4B, F {5) None of these
Who amongst the following faces A?
(1} R (2T 3P

(4) Q (5} S

P is related to V in the same way as C is
related to F. To which of the following is E
related in the same Pattern?

(1B (2) D @) cC

4} A (5) None of these

Which of the following is true regarding F?
(1) F sits second to right of C

(2) Fis not an immediate neighbour of A
{3) F sits third to left of D

(4) F sits at one of the extreme ends of
the line

(S) F faces V

Who amongst the following sits exactly
between P and Q? :

(1) R 2 v (38
4T (5) Cannot be determined




Directions (32 - 36): Study the
information carefully an
quesntions.

32.

33.

34.

35.

36,
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following

d answer the given

S,R,N,L,MT,O and Pare
le facing the centre. All eight
nt professions- reporter,
teacher, accountant,
r and supervisor. They
rily seated in the

Eight people -
sitting fn a circ
belong to differe
doctor, cricketer,
shopkeeper, painte
are not nccessa

mentioned order.

M is sitting third to the left of O. The doctqr
is to the immediate right of M and M 18
not a reporter. R is sitting fourth to the
right of P. Neither R nor Pis an immcdigte
neighbourof M. Tisa teacher and is sitting
third to the right of the doctor. The
shopkeeper is sitting second to the left of
the teacher. The painter is sitting second
to the left of M. S the cricketer is sitting
exactly between T and P. The accountant
is sitting second to the right of the
cricketer. N is sitting third to the left of T.

Who amongst the following is a reporter?
(1) O 2L (3) N

(4R (5) None of these
What is S’s position with respect tgR
{1) Third to the right '
(2) Second to the right
(3) Third to the left

(4) Second to the left
(S} Fourth to the right
How many people are%g between P
and N when counte anti clockwise
direction from N? Q

(1) One £) Yo (3) Three
(4) Four ﬂ:j Jone
Four to thfIlgi¥ing five pairs are alike in

arrangement and so form a
ich of the following does not
the group?

(1]Yeacher - painter

(2) Supervisor - Shopkeeper

(3} Cricketer - Reporter

(4} Doctor - Accountant

(S) Bhopkeeper - Doctor

Whict one of the f, "
false accordjn ollowin

arrangementy

g statements is
£ to the above mentioned

Ordpress COMediate sign o y,,

supcl‘viﬁur

(2) The cricketer is third to the right of the
shopkecpcer

(3) The doctor is sitting exactly hey, cen
the supervisor and the accountay

(4) Lis neither a teacher nor a Vitoy

(5) Therc arc only three % clwee,,
{IDIIQWI“

Sand N

Directions (37 - 42): Stu :
information carcfully and wer the Kivo:

queltlonn.

38.

40.

78

and sitting aroury A

square table in h gAvay that four of they,
sit at four corners’ the square while foy,
sit in the llc of each of the four sifey
The ones at the four corners fuge

outsici%ﬁ%? c who sit in (he middie of
thsides;fadc
P

K, L| Ml Pi Q? R’

the centre of the table,
7

itolaird 1o the right of S, S faces (e
‘Q sits third to the left of M, M daceq
it in the middic of the gides. Only onc

_ @raon sit between Q and R. R is nol an
%1mmcdiatc ncighbour of M. T faces the

Q

centre. K is nol an immediale neighbour of R,

7. What is position of M with respect to L?

(1) Third to the right

(2) M and L sit diagonally opposite to cach
other

(3} Second to the right

{4} Second to the left

(5) Fifth to the right

Who sits exactly between Q and R?
1)T (2) P (3) K

(4) M (5) 8 and K

Which of the following pairs represents the

persons seated in the middle of the sides
who face each other?

(1)8,Q (2 K, L
)R, T (5)T, Q

Who amongst the following sit between R
and K when counted in anti-clockwis¢
direction from K?

(1) No one sits between R and K as R and

K are immediate neighbours of each
other

(2) S,PandL (3)Pand Q
(4} Land R (5'M, Sond T

(3} M, P




41.

42,

pirections (43 - 47):

If K is mnade to face the ¢
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who would sit to his immeiq n, 47, Wh
t at will
(1) R @0 ate righty mark (?) cz;)me in the place of the question
3)p ased upon the given acati
(4T (5)S artangement? ne
Four of the following five g i EH HF ?
. re alike in
certain way and so form a a (1) FE
; group. Whi {2JHC  (3)FD
is Otll;le?onc that does not belong to thil: (4) DB (5) FH @
glr)Lp , Directions (48 - B2): Read the wing
( )M (3) K information carefully and the
4P (S5} R questions which follow :- &
&n different

Study the following

information carefully and ans
questions: wer the given

43.

44,

45,

46,

A,B,C, D, E, F, G and H are sittin -
a square table facing the centre iﬁ:rt?::ll-?g
way that four of them sit at four corners
of the square while four sit in the middles
of each of the four sides:

(a)
(b}

(c)

(d)
(e)
(0

Who sits exactly between F
(1) B
(4) H :
How many persons -_ :
when counted in & \%

from A?
(1) None e (3)Two 49,
(4) Three our

Four of thé A% - r
certai aWbased on their seatlgdg
i the above arrangement 2

A §its second to right of F, F sits in the
middle of one of the sides of the table.

G who does not sit at any of the

corners of the table sits second to the
right of D

Only two people sit between D and B
(taken from one side)

C is not an immediate neighbo
H sits second to left of B
E is not an immediate neighb

or F. m

:-\._tr‘

s;-c_:-,.:l‘::r Wing ﬁve are alikc il‘l a

posi

L@ group. Which is the onc that
%ﬂ belong to the group?
{1)

@E

(2 F (3 A

(5) G

What is the position of F with rcSRCCt to C?
(1) Third to the left

(2) Immediate to the right

(3) Second to the left

(4) Third to the right -

(5) Immediate to the left
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48.

50.

A,B,C,D,E, F,Gand H
standards viz, 1%, 2, , ™, 6%, T

and 8%, All of them, ated around a
circular table {c centre.
C sits third to t gf H. H studies in std.

8", F sits seco left of E. E is not an
immediate x&ighbour of C or H. The one

igystd. 1 is an immediate
hree people git between

H ent of std. 7,
H also their immediate neighboure

study in std. 2. Only one person
etween the student of std. 2 and G,
dents of std. 3 and 4 are immediate

eighbours of each other. C is neither in

@std. 4 nor in std. 3, Only one person sits

between A and the student of std. 5. A
does not study in std. 2 or 3, B does not
study in std. 2.

Who amongst the following represent
jmmediate neighbour of G?

(HA B

(2) E and the student of Std. 2

(3) H and the student of std. 6

4EF

(5)A, D

How many persons sit between D and the

student of std. 4, when counted from the
left hand side of student of std. 47

(1) None (2) One (3) Two
(4) Three {5) Four
Which of the following is true?
one person is sitting between
W gz?lgcnt_ of IaJtd. 4 and std. 6
(2) D studies in std. 2 .
(3) The one studying in std. 3 is an
ijmmediate neighbour of H
{(4) One person sits petween H and the
student of std. 2

(5) None is true




S1. Which of the YRMESIMALDOOD-NOTdPLES S OMicning ey

(1) F studies in std. 5 1T QP 31Q
(2) D and G are immediate neighbours of F @R (53 Nane of thesa
(3) One student sits between F and the 58, Four of the following fve s a1y o

student of std. 4. certain way and thus form a goug v
is the one that does not belang -:c:; |

(4) F sits second to right of A A =

(S) None is true ' group: QJ
§2. Who amongst the following studies in std. 3 ? {1} D l”)S m&

(1c (2} F 3G 4T §.§

4B (5} Cannot be determnined S9. Who amongst d1e foﬂaw% ten,
Directions (53 - 55): Four of the following five people sitting ar extrem: of the -::.73
are alike in a certain way and so form a group. (1}R, F T, iD,R
Which is the one that does not belong to that 8)C. Q {5) S,
group? 60. Who amongst owing faces Q2
53. ()BD g; gg B AH (1D (2B (3}E

(@) EG - _

{4) A 7o) None of these

54. (1) BAH (2 EDG (3} CBF 61. Four off®y 0 ¢ five are akie ; e

Yand thus form a £oup, whis

(4) HGA {5) DFE
that does not belong to .___:

55. What will come in the placc of the

question mark?
G DBA? 2} A-Q (3}C-S

(1) E @F  @c ' Q,F_P (5) D-R .

(4)H (5) A
oW many persons are seated b-et-‘cma
Directions (56 - 62): Study the followi gl
information carefully and answer th
questions: . ey (1) Omne (2} Two (3) Three
Twelve people are sitting in two 1 {4) Four (S} None
rows containing six people eadlp, in such Answer with explanation:
a way that there is an e iptance 1 .8: We have information that only ons
between adjacent persons. -1A, B, person sits between B who is the
C, D, E and F are seated 11 of them shopkeeper and the teacher.

are facing South. In rgg-2%p, O, R, S, T

and V are seated ande&Sjo¥¥hem are facing

North. Therefore, & e given seating

arrangement eac ffiber seated in a row

faces another r of the other row.

V sits third of S. S faces F and F -

does not '%‘-y of the extreme ends of 4/"# oo gﬁ,,é“"
i J/ Canea 1 é—-n

the line. ird to right of C. R facea C.

The op% g E sits third to right of P. B Now, we have information that the one %2
F % P doMot sit at the extrerne ends of the is an architect sits third to right of the sho”
Y T is not an immediate neighbour of V keeper. Also, A sits third to right of teache”

andl¥ is not an immediate neighbour of C.
56. Which of the following is true regarding B?
(1) B sits to the immediate left of C

(2) B faces Q

(3) B sits fourth from the extreme left end
of the line

{(4) D and F are immediate neighbours of B .
(S) None is true
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Now, we have information that H

""architect and Engineers. A} sits between

sits third to the right of clerk_"the enginger

1 1.

Case I

Now, look for _the positions of D and G

We knovst, D sits second to the left of G‘
Also, G is not an immediate neighbour
of the teacher. o

Reject Case II, because wé can’t lai;e é ws

and G according to the given corik:l}'tion_é.

Now, look for the positions a% . Since E
is not immediate neighbour o], hence

@

)

a°°q\kf Enginee” '
Now, look for the positi’ons of l:fusm;::;
sman and F. We have ipfqmauo?wteen
only one person is sitting b€ g
businessman and F. Also, E is ne
businessman nor a doctor:

to
A careful look will b€ helpful

sitting .

o

Now, si@l&)"is not a déctor, we can

conclud S it is D who is a doctor,
whe?h;;, ajbanker.
Thu ,‘thé%mpletc information’is as follows:

;} A,Businessinan
h A

i .
C, Engineer
1.3 2.4 3.2 44 55

6 - 10: Make an arTangement as shown below:

AN
PI T rL

Look for the positions of P and T. We
have information that P sits third to left
of T. Also, Neither P nor T sits at an
extreme end of the line.

Thus’ we get

— d—
_‘—_
s ——
—
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Use the following clues to proceed. : P
¢ Nither A nor EfacesTor P. . J l l l 1 l
¢ A does not sit at an extrerne end. _ .
¢ Neither Fnor C faces T. I I . 1 I T l
» C does not sits at the extreme end. D F ~
Now, we get Now, look for R’s posm n in u{‘,}"’n X
T P have information that R dm-_% X «f;e_ :
l 1 l and R does not sit at arl .‘ Ctné;é
l, l 1 the line. Thus, we nohide thy
], I ] [ I I is sitdng opposite C. 2 \yi
A AE AE @ l l
x X X x x x
C FC C
b 4 x X b I
Now, look for the positions of E and A. 4,
We know A sits second to the right of E. E Q\'d_, i
ie. E-A . Ig_ow.{‘*loo e positdon of Q and V. W,
We get, kubw “iat only one person is sirixg
T ) P pe{\xpénVand Q. Also, Adoesnot faee V-
“‘the basis of the above informat on ws
1 1 l l l 1 Qf:an conclude that V is situng opposite
f?«;;—-‘ E where as Q is siting opposite A
] ] ] I I I Q Now;, the only person left in the row (fzcnz
@ south) is S. S is sitting opposite F. Thus
E ES’ A c ( the complete informaﬁon is as follow.
Now, arrange the position of.F ang%:ﬁl) v T R
know that only one perst;%s sitting l l l l l l
between F and C. Thus the@rdérdfi F and
C will be %‘b
o LTI I
or, ' E A C D §
2.C-F 6. 2 7. 1 8.4 9.2 10
Wecan’tacoo Fand Cin thisorder 11 - 16:

lFC

T %ﬁofFande]lbeas
%&gct
P
O A
R [
Agam since F is Cnot immediate i [Laweyer] =

J
- - H
nlflghbour of B, thus we can conclude V.., [Scientist] Lo T,
that B is sitting between E and 4. Thus, Qullecturer] 4 U A
PH

3

‘D’ the only person left in th i
e row (faci 8., [Doct
North) is sitting between © and F( " 1? [4 oclc:—] 1 oy
) - 13.2 14,
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17 - 21: 37 - 42:

37.4 38.2 39.5

& 43 - 47;
A

17.3 18.4 19.2 20.5 21.3 <
22 - 26:

< 4 o D

ww' |
& G Q>
.3 45.4 46.5 47.3

& O’

48.3 49.4 50. 2 51.4 52.4
53.4 54.1 55. 3

56 -62:
B

|
iy

» R ——r D

57.




